\ 112 G7 CH 13 WS 1 Exponents ,/

Exponents: Worksheet -1

1. The expanded form of a3 is: [ |

Aja+a+ta B)axaxa Cla—-a+a D)a +axa
2. amx gn = [ ]
A) amn B) (a x a) mn C) g m*n D) (2a)m+n

3. The value of 27 — 72 = [ ]

A) 79 B) O C) (-5)5 D) (-5)°
4. Ya" = [ ]
1
A) amn B) (a")' C) (am)n D) None
—b
5. (RERIOD = 3 then (EJ - .
N B) 4 o) D) 2
3 9 27 8
6.If n =22 then n* = [ ]
A) 64 B) 16 C) 4 D) 2
7.2x+2 =1 then x = [ ]
A) 2 B) 5 Cjpts D)-5
8. If 552 = 625 then 52 [ ]
A)5 B) 25 Q) 1 D)-5
9. If 3x = 270 then 3x-3 = [ ]
1 1
A B) 10 C) 5 D)Z

=

www.thirdapple.in




-5 -10 3x
10. If (Ej x(EJ = (Ej then x =
4 4 4
A) S B)-3 C)-5

11. If 2n = 64 then 23n-2 =

A) (16)2 B) (16)3 C) (16)4
12. Which of the following is true?

A) 510> 315 B) 510< 315 C) 510 = 315
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D) 3
[ ]

D) (16)°

D) 510 = 315 = 155




